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<html>
<script>
var
var NO = (window.prompt(1991 ©351");

var MIS = parseFloat( );

document.write(__ ),
NO = ;

</script>

</html>
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<html>
<script>
var
var NO = (window.prompt(719501n ©IN"));
document.write(_____ )
</script>
</html>
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var C = 5;
var B = 10;
var S =B + C;
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document.write(B + C);

document.write(”B» + 7B 4 1Cr);

document.write(parselnt(B * C));

document.write(’B + C =7 + S);
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<html>
<script>
var SOD = 'HELLOy;
var X = parselnt(window.prompt(’1991 ©351"));
var Y = parselnt(window.prompt(”1901n ©351"));
document.write(SOD);
var SUM=X+Y;
document.write(\n’ + X +\n’ + Y +\nv + SUM + \nv);
document.write(” FINISH»);
</script>
</html>
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<html>
<script>
var SUM = 0;
for (k=1;k<=4;k++)
{
var X = parselnt(window.prompt(71901 ©321"));
if (X>k)
document.write(’***);
else
SUM = SUM + 1;
}
document. write(SUM);
</script>
</html>
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<html>
<script>
var GOOD= (window.prompt(71901 ©32N"));

GOOD= ;

var VERY = parselnt(»07);

if (GOOD < 0)
{VERY=___ ;}
else

{ VERY = )

document.write(_____ )
</script>

</html>
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<html><head><script>
function 0{
var numberl = parselnt(document.getElementByld(7______ »).value);
var numberll = numberl/10;
if (mumberl1l == parselntmumber1l)) {
document.getElementByld(” ).value = numberll; }
Else { document.getElementByld(” m.value = parselnt(number11)+1; }
var number2 = numberl/5;
if (number2 == parselnt(number2)) {
document.getElementByld(” ”.value = number2; }
else { document.getElementByld(” m.value = parselnt(number2)+1; }
var number3 = numberl/4;
if (number3 == parselnt(number3)) {
document.getElementByld(” ).value = number3; }
else { document.getElementByld(” m.value = parselnt(number3)+1; }
var number4 = numberl/20;

if (mumber4 == parselntinumber4)) {

document.getElementByld(” ”).value = number4; }
else { document.getElementByld(” m.value = parselnt(number4)+1; }}
</script><s/head>

<body ><form name="frm’>

<input type="text” value="0" id="_____ 7 size="47>: ©annwn 19010 <br/>

<input type="button” id="calc” value=" » onclick=" ">
<br/><br/><br/>

<input type="text” value="" id=" 1 size="4">: ©INN <br/>

<input type="text” value="" id=" nsize="4">:0pM  <br/>

<input type="text” value="" id=" 1 size="4">: DN PP1Apa <br/>
<input type="text” value="" id=" 1 size="4">: MNYN N2>IN <br/>
</form></body></html>
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